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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r—o',

"PHO:g—o’ ]]
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Trend plot forP3-2_0
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P3-2

BrE) | GEBAKE) | ERE(EH/AR) | EREE (F/R) [ XS R

07:40 283 150. 0 25. 83 FR[ FHR@07:40 RENFEFF CRAMRRELES
08:35 283 150.0 25. 83 FA| FHA@08:35 KRENFEF (ARFIEEES)
09:30 283 150.0 25. 83 FH| FnHA@09:30 KRFIEF CRAERER)
10:30 283 150.0 25. 83 FH| FHA@10:30 KREFEF (KAFERHE)
11:25 283 150.0 25. 83 FA| FhHR@11:25 RHMIEHF (RALESR)
12:15 283 150.0 25. 83 FA| FnHf@12:15 KRFEF CRAERS)
13:05 283 150.0 25. 83 M| FiHA@13:05 KREFEF (KAFEHE)
13:55 283 150.0 25. 83 f| FiHR@13:55 REMIEHF (RALESR)
14:50 283 150. 0 25. 83 /|  nHfe14:50 KEIEF (REAERES)
15:50 283 150.0 25. 83 M| FiHBe15:50 KREFEF (KAEHE)
23t 2830.0 (100%) 1500. 0 32803 %EC: 2080.0, PH: 6.0

##[EKECE (2087.0 vs 3563.0) d 5
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P3-2

BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 R

07:40 278 150.0 25. 83 FA| {Ri%@07:40 Bz (GRAEEE)
08:40 278 150.0 25. 83 FE| 1RRi%@08:40 B (FRFAERESE)
10:20 278 150.0 25. 83 BA| {Ri%@10:20 Bz (GRAEEE)
11:25 278 150.0 25. 83 FR| {Ri&e@11:25 Bz (GRAEEE)
12:25 278 150. 0 25. 83 PR 1Rig&e12:25 Bzl (REAERSE)
13:20 278 150. 0 25. 83 FA| 1B2i%@13:20 B3h (kPBEREE)
14:40 278 150.0 25. 83 FA| {Ri%@14:40 Bz CGRAEEE)
16:30 278 150. 0 25. 83 FE| 1Ri%@16:30 Bzl (REAERSE)
=it 2224.0 (8%) 1200. 0 328053 %EC: 2080.0, PH: 6.0

FHERECE (2220.0 vs 3673.0) i d 5




P3-2_0, Day=62 (2025-05-30)

150 A

100 A

50

FRV (ml plant-1)

VI, VPRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

2200
1969

1600 650

80 e 003

80

Warning: lcol [FVI',| "FVO’'] missing

- 3000

- 2000

RV (ml d-1)

- 1000

L

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.2~

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

%08 4

ET (ml/hr/plant)

J a a
308— 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

200 -

100 A

1
Bylnit @D63 05:00: ET=1176 Fg=1350.0 Ro=294.0

p————@ ® \ 4

- 2000

- 1500

- 1000

cumET (ml/plant)

- 500

ET (ml/hr/plant)

J a
308— 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

200 4 ByEt @D62 16:07: ET=862 Fg=1650. 0 Ro=nan © @ © @ @ ® ®

100 A

— — ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
2| %s| B i i 5 5 i i 5 G A B 5 5 A B B B G B B B G

- 2000

- 1500

- 1000

- 500

cumET (ml/plant)

ET (ml/hr/plant)

P S ——" —— S S — 3

]
200 4 ByWoFv @D63 05:00: ETF1005 Fg=1200. 0 Ro=249.0

100 A

55| %=(%=| BB | BB | B8 | BA | BH | BH | BH | BH [ BA [ BA [ BA [ BA | BA | BA | B8 | BB | BB | = | =[S KA

- 2000

- 1500

- 1000

cumET (ml/plant)

- 500

0.8

0.6

0.4+

0.2~

55| %=(%=| BB | B | B8 | BA | BH | BH | BH | BH [ BA [ BA [ BA [ BA | BA | BB | B8 | BB | BB |B=|E= (5= KA

0.0

1000 A

500 -

30 {

25 A

—_—
[ ] | _obs
—@— PPFD obs

A A

_— T
o T obs
® To_obs

20

15

80 -

60

40 ~

—— RH
o RH_obs
RHo_obs

"I"R.‘h‘lP ® VP




m=465, FV0=0 m=500, FV0=0 m=535, FV0=0

34.0
- ME - ME - ME
34.5 34. 25
33.5 -
34. 00
34.0
33.0 - 33.75
32.5 33.5 1 33. 50 -
33. 25
32.0 - 33.0
33.00
T T T T T T T T T T T T T T
500 600 700 800 900 465 470 475 500 505 510 535 540 545
m=605,m FV0=0 m=655,m FV0=0 m=700,m FV0=0 m=735,m FV0=0
35. 25
34. 50 - —o— ME —— ME —o— ME —e— WE
35. 00 - 35.5 1
34. 25 34.5 -
34.75
34.00 35.0 1
34.0 - 34.50
33.75
34. 25
33. 50 33.5 - 34.5 -
34. 00
33. 25
33.0 - 33.75 1 34.0 -
T T T T T T T T T T T T
605 610 615 655 660 665 700 705 710 735 740 745
m=770,m FV0=0 m=810,m FV0=0 m=850,m FV0=0 m=920,m FV0=0
o— mE | 307 o e 36.87 o wE 37.00 — NE
35. 5 4 36. 6 36. 75
35.51 36. 4 - 36. 50
35. 0 - 36.2 36. 25
35. 0 -
36.0 36. 00
34.5 1 35. 8 - 35. 75
34.5 -
35. 6 35. 50
770 775 780 810 815 820 850 855 860 920 925 930
m m=465,m FV0=0 m=500,m FV0=0 m=535,m FV0=0
14 —— MW 14 - MW - MW
42 44
42 43 4
40
40 42 43 -
” 38 -
41 42
36 -
36 - 40 -
- M
34 = 1
500 600 700 800 900 465 470 475 500 505 510 535 540 545

m m m m



m=605, FV0=0

44 -

43

42

41 -

40 -

—0—

M_W

T
605

T T
610 615

m=770,m FV0=0

44 -

43 -

42

41 -

—0—

M_W

T
770

T
775 780

m=695, FV0=0

44 -

43 -

42

41

40 -

—0—

MW

T
655

T T
660 665

m=810,m FV0=0

44

43

42 -

41 A

—0—

M_W

T
810

T
815 820

m=700, FV0=0

44 4

43 A

42 -

41 -

40 -

—— MW

T
700

T T
705 710

m=850,m FV0=0

44 -

43 A

42 ~

41 -

—— MW

T
850

855 860

m=735, FV0=0

44

43

42

41

40 -

—0—

MW

735

T T
740 745

m=920,m FV0=0

44

43 -

42

41 -

—0—

M_W

920

925 930




hour

1556 -

:05

:05

:10

115

:10

:00

:00

015

100

80

- 60

- 40

§_

&
%
&
4,
%,
%
7%,
&
N
xe,%_}\
T
Y
2

@f%$
- %
%

%

%



P3-2

BfE) | GEBERTIC (7)) | ERE (EAH/#F) | EREE (B/R) | X8 R

08:05 273 150.0 25. 83 5| 1Rik@08:05 Bz (KAL)
08:55 273 150.0 25. 83 = {RRiB008:55 Bz (RFAREE)
10:05 273 150. 0 25.83 |Z=| 1BRi&@10:05 Bzl (GRAERE)
11:10 273 150.0 25.83 |Z=| {Ri&e11:10 Bz (GGREERSE)
12:15 273 150.0 25.83 (£ =| 1Rige12:15 Bz (RAERSE)
13:10 273 150. 0 25. 83 E| {Rig@13:10 Bah (GRE{ERSE)
14:00 273 150. 0 25. 83 E|  {Rige14:00 B3h (RE{ERLEE)
15:00 273 150.0 25. 83 =l RRiB@15:00 B (RFAEEE)
16:15 273 150.0 25.83 (Z=| {Ri%e16:15 Bz (KREAERSE)
21t 2457.0 (90%) 1350.0 32903 %EC: 2080.0, PH: 6.0

#H[ERECE (2323.0 vs 3753.0) i d5
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P3-2_0, Day=61 (2025-05-29)
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Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing

200

100 A

0 -
300

]
Bylnit @D63 05:00: ET=1040 Fg=1300.0 Ro=262.0

—$——8—0

4 3000

- 2000

- 1000

—— —— 4 | ———
0| 1] 2 ]3] 4]5

6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

- 3000

200

100 A

300

= E3 E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES = E3 E3 ES
H H H i H H H i H H
B B A A B B A A B A A B B A A B B A A B B A A

]

ByEt @61 19:08: ET=1103 Fg=2205.0 Ro=nan ® .: *—o *—o
]
I

- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

- 3000

200

100 A

1,0—!:’ ’ 2 P _

B[ [ [ [/ [/ || |RBIZZ|Z2Z|$55|%55| B | B | B (S| H [H I B [BH[BH[HB[ZE

]
ByWoFv @D63 05:00: ET:=1179 Fg=1350. 0 Ro=263. 0
]

Z

- 2000

- 1000

0.6

0.4+

0.2~

—_—
[ ] | _obs
—@— PPFD obs

RH
RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



40.

39.

39.

38.

39.

39.

38.

38.

37.

37.

40 -
38
36 -
34
32
—o— ME
660 860 1050
m=560,m FV0=0
—e— ME
38
37
36
5éo 565 550
m=725,m FV0=0
—e— ME
0 -
5 -
0 -
5 -
755 750 755
m=885,m FV0=0
57 —o— M_E
0 -
5 -
0 -
5 -
0 -

885 890 895

33.

32.

32.

31.

31.

39.

39.

38.

38.

37.

40.

39.

39.

38.

38.

37.

39.

39.

38.

38.

37.

m=450, FV0=0

—o— ME
0 _
5 -
0 .
5 .
0 .
450 455 460
m=610,m FV0=0
5| & ME
0 .
5 .
0 .
5 -
610 615 620
m=765,m FV0=0
0 —
—o— ME
5 .
0 .
5 .
0 .
5 .
765 770 775
m=925,m FV0=0
54 —@— ME
0 .
5 .
0 .
5 .

925 930 935

33.

33.

32.

32.

40.

39.

39.

38.

38.

39.

39.

38.

38.

37.

39.

39.

38.

38.

m=490, FV0=0

57 —e— ME

o -

5 -

0 -

490 495 500

m=650,m FV0=0

0

—o— M_E

il

T T
650 655 660

m=805,m FV0=0

T _o

M_E

m

8%0 8%5
m=965,n FV0=0

805

—0—

o

M_E

965 970 975

m=525, FV0=0
3454 @ ME
34.0 -
33.5 -
33.0 -
T T T
525 530 535
m=685,m FV0=0
—e— ME
40.0 -
39.5 -
39.0 -
38.5 -
T T T
685 690 695
m=840,m FV0=0
39.54{ —@— ME
39.0 -
38.5 -
38.0 -
37.5 -
840 845 850
m=1010m FVO0=0
40. 00 - — NE
39. 75 -
39. 50 -
39. 25 -
39. 00 -
38. 75 -
1010 1015 1020



44

42 ~

40 ~

38

36

34 -

-o— MW

660 860
m=560,n FV0=0

T
1000

44

43 -

42 ~

41 -

—— MW

560

T T
565 570

m=725,m FV0=0

43

42 -

41 -

40 -

—o— MW

725

730 735

m=889,m FV0=0

43

42 -

41 -

40 ~

39

-— MW

885

890 895

m=450, FV0=0

42 - —— MW
40 -
38
36
34
T T T
450 455 460

m=610,m FV0=0

43 A

42

41

40 -

39 -

—— MW

i
=

610 6%5 650
m=765,n FV0=0

43 A

42

41

40

39 A

—o— MW

i
.

765 750 7%5
m=925,m FV0=0

43 -

42

41

40 ~

-— MW

i
i

925 930 935

m=490, FV0=0
—0— MW
43
42
411
40
39
38 - T T T
490 495 500
m=650,m FV0=0

43 -

42 -

41 -

40 -

39

—— MW

650 655 6é0
m=805,n FV0=0

43 -

42

41 -

40 4

39 A

—o— MW

805 8i0 8%5
m=965,n FV0=0

43 A

42

41

40 -

- MW

965 970 975

m=525, FV0=0
—— MW
43 -
42 -
41 -
40 B T T T
525 530 535
m=685,m FV0=0
—— MW
43
42 -
41 -
40 -
685 690 695
m=840,m FV0=0
43 ——
42 -
41 -
40 -
39 -
840 845 850
m=1010m FVO=0
—— MW
43 -
42 -
41 -
1010 1015 1020




hour

145

145

140

:30

:20

105

:55

:00

100

80

- 60

- 40

§_

&
%
&
4,
%
)
%
&
N
xe,%\
T
Y
%

@f%$
%
%

%

3,



P3-2

BrE) | GEBAKE) | ERE(EH/R) | EREE (F/R) [ XK R

07:35 278 150. 0 25. 83 E|  {Ri1&e07:35 Bah (RFE{EREE)
08:30 278 150.0 25. 83 = {RRi8008:30 B (FRFAEEE)
09:45 278 150.0 25. 83 = RRiB009:45 Bz (REAEEE)
10:45 278 150.0 25. 83 = RRi8010:45 Bz (REAEESE)
11:40 278 150.0 25. 83 =l {Rige11:40 B3 (RAERSE)
12:30 278 150.0 25. 83 Sl {Rige12:30 B3 (RAERSE)
13:20 278 150. 0 25. 83 E| {Rig013:20 B3h (RE{ERSE)
14:05 278 150.0 25. 83 E BRige14:05 Bz CGRAERESE)
14:55 278 150.0 25. 83 S| {Rige14:55 B (REAERSE)
16:00 278 150. 0 25. 83 El BRige16:00 Bzl (GRAERESE)
2it] 2780.0 (100%) 1500. 0 3203 %EC: 2080.0, PH: 6.0

#H[EKECE (2400.0 vs 3753.0) RS
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P3-2

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS EX

08:40 278 150. 0 25. 83 E  BRi%e08:40 BE1 (RAERE)
09:25 278 150.0 25.83 (Z=| {Ri%@09:25 Bz (FAERSE)
10:20 278 150.0 25.83 (£ =| 1Ri%@10:20 B3 (RAERSE)
11:05 278 150. 0 25.83 |Z=| BRige11:05 Bzl (GRAEREE)
11:50 278 150.0 25.83 |Z=| {Ri&e11:50 Bz (GREERSE)
12:35 278 150.0 25.83 (£ =| {Rige12:35 Bz (REAERSE)
13:15 278 150.0 25. 83 FA| 1BRi%@13:15 Bzh (RAERSE)
13:55 278 150.0 25. 83 FA| {Ri%@13:55 Bz (GkAEEE)
14:40 278 150.0 25. 83 FR| {Ri%@14:40 Bz CGRAERE)
15:25 278 150.0 25.83 (Z=| {Ri%e15:25 Bz (REAEHSE)
16:20 278 150.0 25.83 (£ =| {Ri%e16:20 B3 (RAEZSE)
23t+]3058.0 (117%) 1650. 0 3 I3FKEC: 2080.0, PH: 5.9

#HERECE (2393.0 vs 3677.0) RS
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ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-2_0, Day=59 (2025-05-27)
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